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Monte Carlo vs. Bootstrap

m % # + % (Monte Carlo) 4 ¥4 (Bootstrap)
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T ¥+ Binge b - Wilcoxon i 5Lk 2
h- B A THAT IO B L
B gkt "’Lr)a Elﬁlfﬁ r'nyf#(rank) %i
%J‘l”i";é\f\‘l/~ E'g:m %Ftu ’ A,\ E‘,IJ% 'u
Lp w#(v Ty B o
e o

\/LJ‘—_v

LN S T++T‘ = n(n2+1) :

¥ TR A HoiR K P

E(T) = n(n4+1) & Var(T) = n(n +13512n +1).

2y 1 B2k X, ~iid.N(m,g?),i=12,...,n




Critical values of the Mann-Whitney-Wilcoxon
test (a=.05, 10,000 runs, and numbers in red
are the true critical values.)2> £ £ 2 + |

n=2 3 4 5 6 7 8 9 10

n=2| 3 3 3 3 3 3 4 4 4
3 | 6 6 6 7 8 8 9 9 10
4 | 10 10 11 12 13 14 14(15) 16(15) 16
5 | 15 16 17 18 19 21 22 23 24
6 | 21 23 24 25 27 28 30 31(32) 33
7 | 28 30 32 34 35 37 39 41 43
8 | 37 39 41 43 45 47 49(50) 52 54
9 | 46 48 51(50) 53 56 58 61 63 66
10 | 56 58(59) 61 64 67 70 73 76 79




e.u X. ~i.i.d.N(01) 1=1,2,...12 % & > &

2@ ke 78 530 #459,999=%
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Monte Carlo p-value & Test
. 1"’%\1*' BB N kA Aok R
&Likb‘ijﬁkl]}(#)ﬁ,zk k—:)apv}ﬁy\m

p-value = k/(n+1) » — 4x &g % -k & 5 0.05 >
nie % E:FE 599499 -~ 999 ~ 9,999;:"
99,999 % & F -

>Q : F# + Rp-value& £ 5|4 €L B ?
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miEd N(O1)A 2 7 Apfb 2 7251 XY
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Correlation between X and Y R"2 of Y on X
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Bootstrap (< &2 )

m Bootstrap;z ¥ i # 2 Efron*t19793 J} e
2 0 Y E A 4 R (Resampling) = /2 o #-
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Monte Carlos EF##72 k| ) 11k
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#o 5 ¢ - d Poisson4 fiedd ) esE 8 4R A
o/ 7778838999 910101010
11111213131313141515151517 20
> ik AY THE 100 kA2 Y
P % B d Bootstrap gt 1 iR # £ o
10,000 {5 18 X ©3+E1.0063 > ¥
= #cih950% 2 4F % ¥ (8.5586, 11.4414)
dE R Y > #10 o
L 1 * §8 5 Poisson(10) ; % ¥ + %95% 73 i
T B 5 (8.3939, 11.2767) -
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Monte Carlo % Bootstrap sif- 4% 42 5

# Monte Carlo
t1=NULL
for (i in 1:10000) { x1=rpois(30,10); yl=median(x1); tl=c(tl,yl) }
# Bootstrap
X0=rpois(30,10)
t2=NULL
for (1in 1:10000) { x2=sample(x0,30,T); y2=median(x2) ; t2=c(t2,y2) }
#
al=mean(tl)
bl=sqrt(var(tl))
b2=sqrt(var(t2))
par(mfrow=c(1,2))
hist(t1,xlab="Median",main="Monte Carlo (10,000 runs)")
text(8.2,3500,c("C.1.=(8.394, 11.277)"))
text(11.5,3500,c("s.e.=0.735"))
hist(t2,xlab="Median",main="Bootstrap (10,000 runs)")
text(8.7,3500,c("'s.e.=1.006"))
text(12,3500,c("C.1.=(8.559, 11.441)"))
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Monte Carlo Bootstrap
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mcTo
(1) Wb oo PG
Bootstrap error

= Sampling error + bootstrap simulation error

(2) %7 v kA P HRAL G 2R
B 112 m%*‘ 1 F¥ > Bootstrap® * % i i1 A
fie e3554k o (Shift methods!)

(3) 7%~ Bootstrapz-& !




Bootstrap:Z w3+ % £ #cerF b

e TS BEELT AT

Lo O =2 [ ] 0.2 O .4 o6 o4 Lo =) (o] Lo =4 o4 0.6

max=0.4032 max=0.5622 max=0_1956 max=0.5597

Location 1 tELocation 2 River 1 River 2




m Bootstrap;2 3+ & 11 e B Bc(ALE L) 5 &7
< 4% A 3@ % Delta j# enfic iz b # e

Bootstrap Delta

B @EEH 0015 0.01426

K EFA 0.008 0.0083




Bootstrap’i’r e T AR

SERBE L T R R

2 40 B 7k (Dependent data) i
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Block Bootstrap in Lynx Data

Median Bootstrap
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295% LFI BEootstrap
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POPULATION (IN MILLIONS)
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Bbr~ i

Block : . .
Bootstrap Linear Weight Block size =5
LC SvD
' AR

AR(p)

Sleve

BSpline 8 basis functions
FPCA Monomial 8 basis functions
Polygonal Knot #icd 7Rl iA- 2

—
ZHRE EXD AT F S ET T ISMAPE
LC FPCA
. :
(%) SO SVD | PCA Sleve BSpline | Polygonal | Monomial

Estimate | NA | 803 | 8.03 | NA 0.00 0.00 0.00

Forecast | 11.73 |12.03 | 12.03 | 10.26 | 20.21 13.42 19.28




